4= Pl ot [{Cos[x], Cos[x-2x/31}, {X, =7, 7}]

1

out[4]=

/10-
ns= Plot [{Cos[0.5 (x-27x/3)], Cos[x-2x/31}, {X, -7, 7}]

1.0

Out[5]=

L10]-
mel= Plot [{ Cos[0.5 (x-2x/3)], 0.5C0S[0.5 (x-2x/3)]}, {X, -7, 7}]

1.0
0.5

Out[6]=

-1.0+



2| sinusoide 3.nb

n7= Plot [{0.5C0s[0.5 (x-2x/3)]-0.5 0.5C0s[0.5(X-2x/3)1}, {X, -7, 7}]

Out[7]=

(=}
~
T

=

-0.8

-1.0

niel= Pl ot [{0.5C0s[0.5 (x-27x/3)]-0.5 -(0.5C0s[0.5(x-2xn/3)]1-0.5)}, {X, -7, 7}]

out[s]=

10

7

-1.0

nep= Pl ot [{Cos[x], Cos[x-2x/3], Cos[0.5 (x-2x/3)], 0.5C0s[0.5 (x-2x/3)]1,

Out[9]=

0.5C0s[0.5 (x-27x/3)]-0.5, -(0.5C0s[0.5(x-27x/3)]1-0.5)}, {x, -7, 7}]




